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v.1. 78 RFer gaaw fafaw | 1x6=6
(i). #=n ®Fg==g N # R ={(a,b):a =b—2, b > 6} G@NI Yed €Y ¢ dd o1 # & T 3N gfaw:
(@) (24)€R (b)(3,8 R (c)(68)€ER (d) (8,7) € R
(ii). X & vid=y R, (a,b) € RAW (b,¢) ER = (a,¢) E RSB a,b,c € X F I Hel A TFY R
(a) FAfAT &= & (b) Taged wFaY |
(c) HFFsS Toae ¢ (d) Raa gway &l
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(@) 5 (b) 5 © 7 @ 1

(V). A= lay], % 3megg B
(a) 9fFa 3megg  (b) ¥a9 HE (c) ¥ amegg (d) ot amegg
(v). U= Tqwn waAfAd Jregg & faet & 9ds 3aad 8 &
(a) 7@ (b) ulieAs  (c) ®HONcA®  (d) Haredids
(vi). IR f(x) = cos™'(sinx), & f'(x) F AH g

(a) 1 (b) -1 ()0 (d) 535 & &S 7l
q.2.ﬁw1=mﬁ#qj?—‘raﬁm: 1x7=7
(i). tan(x? 4+ 5) &0 x & \UET Hddheled *==+ =+ G |
(ii). 2x3 FE & HYg # Tl &7 AT ~-woeeeeeees T
(iii). Y@+ awer @er. g+}ftanx = SINX 1 FATHeA quneR (LF.) e E
(iv). TR GaThAFTET BT AT G b = ooverrerenees _
(v). dfFa amegy & dfFaat $r wear oo i &)
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9.3. ¥gr S Aanv 1X6=6

(i) f% (a) %tan‘lg +c
). [ (b) +log[—=|+c
(iii). fxzixaz () sin™! i +c
iv). | x::z (d) log |x+Vx?—a?| +¢
(). [VxZ+aZdx (e) %xm + gsiit_2§+ c
(vi). [vVaz—x? dx (f) %x@+a2+t—2iag\x+m|+c
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.. |cosec30 cos0
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(iii). cot™'x & wig AT

(iv) s d=1+j+ k% 3w & 7= wiey @@ |

(v). @ faeg3tt (1.2,3) vd (2,3,4) # Aela el W & s 3eqd fAfav |
(vi). & gear3it E AR F & &1 #ga & afg P(EnF) = P(E) ' P(F)

(vii) cot(tan~'a + cot™'a) 1 AT AT |
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(i)). sin~lx = (sinx)~!

(iii). AT ITFAAT Bl Fad BT 2

(iv). (x* +y9)dx = (x* + xy)dy & SHUERT Jddhd FHROT § |

(v). T U gU g9 # i 0 W 3t # 397 1 8% wgATH g g
(vi). 2T |feel & I & fov agad Faa & g @ar & |
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¥.8. 23isU & f(x) = cos x? gar GRS Foled T TAT Holel § |
3ar
Wl ax + by® = cosy ﬂiﬁ'ﬂ'% AT HAT |
7.9. g9 ¥ &Fhd & IREdsr 1 e gEh B r & anw A| B 5@ r = S5em
3rar
ForelY 3eamer Y x gTEAl F fawa | Ut Fo 3 AT FH R(x) = 3x* +6x+ 59 FeH ¥,
JAdx =5 § o GHAT HF 41 g ?
9.10. f%cosﬁdx H A AT B |

3ar
[logx dx & 71 T HR |

T.11. zafsv ﬁ?sin_l(f&xvl —xz} = 2cos 'x ,—
HYyar .
_ _- 1 o 1
tan~1(1) + cos 1(—5)+5m 1(—;) & HA AT HITAT |
w12, wRwd=1i+]+2k & 3R aEs iy 7a@ H |

3ar
afeelt 1+ 2f + 3k, sk 31— 2] + k & &g For A AFC |
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a4t
war x;’g = y;”r’: z;b F1 TR FHFT T BT |
W.14. e i+ 2f + 3k] 331 — 2] + k & &g & For Tna ffsw

Jqar
ar feegatt P(2,3,4) @ar Q(4,1,-2) &1 et arer wfeer & 7t faeg A Aifaw)

9.15. P(A/B) & A &1 gom 4 P(B)=0.53" P(ANB) = 0.32
HYyanr
I AR Brwddgeaw & a1 § P(A) =03,P(B) =06 P(ANnB) Ad ST |

¥.16. 9x” + 16y* = 144 T W WTx = 2 Y WIS I HET HI 8Tl AT HITod |

aar
FH Y = x F x-38T JUT [T x = —1,x = 2F T HIT H &I AT HIiad |

9.17. 3add d ST sec’x tany dy + sec’y tanx dy = 0 &I O9F g Ald HITAT |
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dy ¥y _ .2
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U.18. ®e= sinx + cosx I HgaH HA AT B |

3ar
foey AIfSw % v v gu g0 & @i e wsh 3mdt & & # eI 3fass g @

¥.19. fafaf@a sgayt & 3add, Z = 3x + 2y & gATHET HifAT
x+y=8
3x + 5y <15
x=0,y=0,

HAar
Aeafaf@a saatet & 3ada, Z = 3x + 4y F1 FRgHor AfFT
x+y<4, x=20,y=20,
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a® b 3

ar
1 2 2
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